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Question 1: Rationalise the denominators of each of the following (i — vii):

(i)3/v5 (ii) 3/(2v5) (iii) 1/v12 (iv) v2/ V5

(v) (V3 +1)/v2 (vi)(v2+V5)/Vv3 (vii)3Vv2/V5

Solution:

(i) Multiply both numerator and denominator to with same number to rationalise the denominator.
3245

- — —
\.-" 5 X \.-" 5

_ 3%y

5
=3/5V5

(ii) Multiply both numerator and denominator to with same number to rationalise the denominator.
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(iv) Multiply both numerator and denominator to with same number to rationalise the denominator.
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(v) Multiply both numerator and denominator to with same number to rationalise the denominator.
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(vi) Multiply both numerator and denominator to with same number to rationalise the denominator.
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(vii) Multiply both numerator and denominator to with same number to rationalise the denominator.
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Question 2: Find the value to three places of decimals of each of the following. It is given that
V2 =1.414,v3=1.732,V5=2.236 and V10 = 3.162
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2(2.236)+3.162x1.732
= 5 = 4,974
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= 1.244

(vi)

= 0.185

Question 3: Express each one of the following with rational denominator:
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Solution:
Using identity: (a + b) (a—b) =a”2 —b"2
(i) Multiply and divide given number by 3-v2
1
3+42
2

3—/

(3+v2)(3-2)

_ /B+V5

(iii) Multiply and divide given number by v41 + 5
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16
VA5
16 % (4/A1+5)
(v41-5)(v/41+5)
16./41+80
41-25

164/414+80
16

16(+/21+5)
16

V4l + 5

(iv) Multiply and divide given number by 5v3 + 3V5

30
54/3—34/5
30x(5v/3+3/5)
(54/3—31/5)(54/3+3/5)

30x(5./3+3,/5)

75—45

F =i

30%(5/3+3+/5)
30

54/3 + 34/5

(v) Multiply and divide given number by 2V5 + V3

1
2./5—+/3

B 2J§+J§

T (24/5-3)(2y/5+/3)
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(vi) Multiply and divide given number by 2v2 + V3

(2,/64+342,/2+./3)
8-3

(24/643+24/24++/3)

D

(vii) Multiply and divide given number by 6 - 4v2
6—4./2
6+4./2

(6—4/2)(6—4/2)

J—

(6+44/2)(6—4+/2)

(6—4/2)°
36—32

36—48,/2432
4

68—48./2
4

4(17-12+/2)
4

17— 12v/2

(viii) Multiply and divide given number by 2V5 + 3
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3v2+1
2./5—3
_ (3v/241)x(2/5+3)

(24/5—3)(24/5+3)

64/10+9+4/2+2,/5+3
(20-9)

64/104+9+/2+2,/5+3
11
(ix) Multiply and divide given number by V(a®2+b”2) - a

b2
\/I{ai—bg}—l—a-

t(y/ (a2+b)-a)

(/ (a2 +)+a)(y/ (a2 +F*)-a)

b*(y/ (a2 +b")—a)
(a2 +0%)-a?)

a?(\;(a? +b%)—a)
bﬂ

Question 4: Rationales the denominator and simplify:

o V3—/2 o 5123 s 5

() 5% (ii) (iii) 4_¥ﬁ;
V342 7+4./3 3—2./2

L. 2645 4./3+54/2 ~ 2./3-./5

Wsim2s Wmom Wisss

Solution:

[Use identities: (a+b) (a—b)=a?-b?;(a+b)?>=(a?+2ab+b? and (a—b)?=(a?—2ab + b?]

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

L
m BYJ U S RD Sharma Solutions for Class 9 Maths Chapter 3 Rationalisation

The Learning App

(i) Multiply both numerator and denominator by V3—v2 to rationalise the denominator.

V3—v2

_ 3-24/3y/2+2
- 1

-5—2,/6

(ii) Multiply both numerator and denominator by 7-4v3 to rationalise the denominator.
5+2./3

=35-204/3+144/3-24
=11-6+/3

(iii) Multiply both numerator and denominator by 3+2V2 to rationalise the denominator.
1— \a‘rE
3_2‘;'5
(1+v2)(3+2+2)
(3—2v2)(3+2v2)

_ (1+v/2)(3+24/2)
- 98

=3+2vV2+3vV2+4
=7+5+/2
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(iv) Multiply both numerator and denominator by 3v5+2V6 to rationalise the denominator.

3./5—2,/6

s (2v/6—+/5)(3v/5+2/6)
"~ (3/5-2/6)(3v/5+2/6)

(2v6—1/5)(3v/5+2+/6)
45—24

(2v/6-v5)(3v5+2v/6)
21
6/30+24—15—2/30
21

4.,/30+9
21

(v) Multiply both numerator and denominator by Vv48—V18 to rationalise the denominator.

4 \;"rg"— 5 \-"ﬁ

. /A8+/18

e

(4v/3+5v/2)(/48—/18)
4818
48—12,/6+20,/6—30
30
18+8,/6
30
9+4.,/6
15

(vi) Multiply both numerator and denominator by 2vV2 — 3V3 to rationalise the denominator.
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2v/3—/5
2./2+43+/3

(2v/3-/5)(2v2-31/3)
(24/24-34/3)(2/2-34/3)

(2v/3—+/5)(2¢/2—3+/3)

8-27
_ (4y/6-24/10)-18+-3,/15)
B —19

(18-4/6+2+/10-3/15)
19
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